[ECRT ]

R, B

—_—
i :
g
]

0 BEE OO0 1130 MMED IMMT BEET WNT AWl LENELCERS wded dEUZ
LT RN R ]




=Y

D N kR W N

FaREER aonEEn
A B Cc
] [ E 1
1] .
|-




®

®







9999-000-000-037

D170

9011-000-001-499

9062-600-999-002

D90/D110/D120

D170

D200

9011-000-001-551

9011-000-001-499

9999-000-000-036

D90/D110/D120

D170

D200

9011-000-001-551

9011-000-001-499

9011-891-001-080

9999-000-000-036

9011-891-001-080

PU 20 can 9999-000-000-041
( )

Kw
D90 0,12/0,18/0,25/0,37 | 63 2RS 6202 2RS 6201
D110 0,18/0,25 63 2RS 6203 2RS6201
0,37/0,55 71 2RS 6204 2RS 6202
D120 0,18/0,25/0,37/055 | 71 2RS 6304 2RS 6203
D170 0,37/0,55 71 2RS 6204 2RS 6202
0,75/1,11 80 2RS 6205 2RS 6204
1,50/2,20 90 2RS 6206 2RS 6204
3,00 100L 2RS 6206 2RS 6206
D200 4,00 112M 2RS 6307 2RS 6206
5,00/7,50 132S 2RS 6308 2RS 6206

D90
D110

D120/D170/D200

9999-000-000-031

9999-000-000-023

9999-000-000-024

9999-000-000-025

0.12...0.25Kw

0.37...2.20Kw 2+3Kw




Pos.2

Pos. 7/8

Pos 4

0.03

- Pos. 7/8

- Pos. 4



